
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8841.5 × 0.001 = ________ 9054.6 × 0.001 = ________

6556.4 × 0.0001 = ________ 4112.1 × 0.0001 = ________

5586.8 × 0.0001 = ________ 3966.5 × 0.0001 = ________

1005.2 × 0.001 = ________ 5258.6 × 0.001 = ________

8130.8 × 0.0001 = ________ 5239.9 × 0.0001 = ________

3760.1 × 0.0001 = ________ 8562.6 × 0.01 = ________

2004.6 × 0.0001 = ________ 5572.9 × 0.001 = ________

8100.4 × 0.01 = ________ 1660.1 × 0.01 = ________

8584.6 × 0.01 = ________ 3153.5 × 0.01 = ________

2021.5 × 0.0001 = ________ 6214.5 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

8841.5 × 0.001 = 8.8415 9054.6 × 0.001 = 9.0546

6556.4 × 0.0001 = 0.65564 4112.1 × 0.0001 = 0.41121

5586.8 × 0.0001 = 0.55868 3966.5 × 0.0001 = 0.39665

1005.2 × 0.001 = 1.0052 5258.6 × 0.001 = 5.2586

8130.8 × 0.0001 = 0.81308 5239.9 × 0.0001 = 0.52399

3760.1 × 0.0001 = 0.37601 8562.6 × 0.01 = 85.626

2004.6 × 0.0001 = 0.20046 5572.9 × 0.001 = 5.5729

8100.4 × 0.01 = 81.004 1660.1 × 0.01 = 16.601

8584.6 × 0.01 = 85.846 3153.5 × 0.01 = 31.535

2021.5 × 0.0001 = 0.20215 6214.5 × 0.1 = 621.45
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